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Question Number : 1 Question Id : 60348914897 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

5th June is celebrated as

1. World environmental day
. Cancer day

L M

. Werld population day

Jow

. Women day

Options:

60348955977. 1
60348955978. 2
60348955979. 3

60348955980. 4

Question Number : 2 Question Id : 60348914898 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the biodiversity hot spots in India?
a) Western Ghats

b) Eastern Ghats

c) Eastern Himalaya

d) Western Himalaya

e) Sundarbans

f) Nicobar

Identify the correct code :

l.a,c d,f
2.abcd
3.acet
4 b, c,d e

Options :

60348955981. 1
60348955982. 2
60348955983. 3
60348955984. 4

Question Number : 3 Question Id : 60348914899 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Green date is a book containing a list of

1. Rare plant species

2. Rare plants and animals
3. Endangered species

4. Extinct Animals only

Options :

60348955985. 1
60348955986. 2
60348955987. 3

60348955988. 4

Question Number : 4 Question Id : 60348914900 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Consider the following statements and select the correct answer from the given codes:
(a) Most of the fishing grounds occur in areas where the continental shelf is wide.

(b) Fishing activity is well developed in warm tropical waters.

(c) Mixing of warm and cold currents brings plant nutrients for fish.

(d) Inland fisheries are more significant than other types in India.

Codes :

1. a and b are correct.
2. a and c are correct.
3. b, c and d are correct.
4. a, b and c are correct.

Options :

60348955989. 1
60348955990. 2
60348955991. 3

60348955992. 4

Question Number : 5 Question Id : 60348914901 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A : Ozone hole is observed only over Antarctica.

Reason R : Ozone depleting gases are present throughout the stratosphere.

In light of the above statements, choose the correct answer from the opticns given below

1. Both (A) and (R) are true

2. Both (A) and (R) are wrong
3. (A) is true and (R) is wrong
4. (A) is wrong, but (R) is true
Options :
60348955993. 1

60348955994. 2



60348955995. 3
60348955996. 4

Question Number : 6 Question Id : 60348914902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

World's highest bio-diversity is found in the

1. Polar regions

2. Subtropical regions
3. Equatorial regions

4. Temperate regions

Options :

60348955997. 1
60348955998. 2
60348955999. 3

60348956000. 4

Question Number : 7 Question Id : 60348914903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Chipko movement is related to

1. Soil conservation

2. Noise Pollution

3. Forests conservation
4. Endangered species

Options :

60348956001. 1
60348956002. 2
60348956003. 3

60348956004. 4



Question Number : 8 Question Id : 60348914904 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il and select the correct answer by using the codes given below :

List | List Il
A. Producer . Precipitation
B. Biota Il. Microbes

C. Abiotic factor |lll. Trees

D. Decomposer |IV. All organisms

Choose the correct answer from the options given below:

1.A-1,B-ll,C-lIl,D-IV
2 8-, B=I, €1, D=l
3. AL B, €41, D=
4. A-I,B-IV,C-ll,DA

Options :

60348956005. 1
60348956006. 2
60348956007. 3

60348956008. 4

Question Number : 9 Question Id : 60348914905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Soil conservation means

1. Prevention of spread of desert

2. To check soil erosion by wind and rain
3. To check soil erosion by afforestation
4. All of these

Options:
603489560009. 1
60348956010. 2

60348956011. 3



60348956012. 4

Question Number : 10 Question Id : 60348914906 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Inshore fisheries are found in the

1. Deepest part of the continental shelf.
2. Shallower part of the continental shelf.
3. Continental slopes of ocean floor

4. Deep sea plains of oceans

Options :

60348956013. 1
60348956014. 2
60348956015. 3

60348956016. 4

Question Number : 11 Question Id : 60348914907 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Biodiversity is product of continuous process of evolution and natural. selection
Reason R : All those processes are man-made processes
In light of the above statements, choose the correct answer from the options given below

1. Both (A) and (R) are true and (R) is the correct explanation
2. Both (A) and (R) are true and (R) is not correct explanation
3. (A) is true, but (R) is false

4. (A) is false, but (R) is true

Options:

60348956017. 1

60348956018. 2

60348956019. 3



60348956020. 4

Question Number : 12 Question Id : 60348914908 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a non- conventional energy resource?

1. Uranium

2. Coal

3. Natural gas
4. Solar
Options :
60348956021. 1
60348956022. 2
60348956023. 3

60348956024. 4

Question Number : 13 Question Id : 60348914909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following type of soil largely distributed in India?

1. Alluvial sail
2. Black soil
3. Red soil

4. Peaty soil

Options:

60348956025. 1
60348956026. 2
60348956027. 3

60348956028. 4

Question Number : 14 Question Id : 60348914910 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

Which of the following measures are effective for soil conservation in India?
A. Avoiding crop rotation

B. Afforestation

C. Encouraging the use of chemical fertilizer

D. Limiting shifting cultivation

Choose the correct answer from the options given below:

1. Aand B
2BandD
3.Cand D
4. A BandC

Options :

60348956029. 1
60348956030. 2
60348956031. 3

60348956032. 4

Question Number : 15 Question Id : 60348914911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a greenhouse gas?

1. Carbon dioxide
2. Methane

3. Nitrous oxide
4. Argon

Options :

60348956033. 1
60348956034. 2
60348956035. 3

60348956036. 4



Question Number : 16 Question Id : 60348914912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Chief source of energy in environment is

1. Fire
2. Moon
3. Sun
4, Stars

Options :

60348956037. 1
60348956038. 2
60348956039. 3

60348956040. 4

Question Number : 17 Question Id : 60348914913 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Match List I with List Il and select the correct answer from the codes given below :

List | List I

(Natural Vegetation) (Indian States/UTs)

A. Conifers l. Jharkhand

B. Evergreen Il. Rajasthan

C. Xerophytes lll. Andaman & Nicobar
D. Deciduous IV. Jammu & Kashmir

Choose the correct answer from the options given below:

AN B =N - Dl
2ZA-NM,B-,C-Il,D-l
3.A-N,B-1,C-l,D-IV
4. A-1,B-lIl,C-IV,D-l

Options:
60348956041. 1
60348956042. 2

60348956043. 3



60348956044. 4

Question Number : 18 Question Id : 60348914914 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Presence of CO, in the earth’s atmosphere is essential.
Reason R: CO, can absorb heat.
In light of the above statements, choose the correct answer from the options given below

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
3. (A) is trug, but (R) is false

4. (A) is false, but (R) is true

Options :

60348956045. 1

60348956046. 2

60348956047. 3

60348956048. 4

Question Number : 19 Question Id : 60348914915 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : Japan is one of the leading countries of the world in fish catch.
Reason R: Around Japan, the continental shelf is very wide.
In light of the above statements, choose the correct answer from the options given below

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true and (R) is not the correct explanation of (A)
3. (A) is true but (R) is false

4. (A) is false but (R) is true

Options :

60348956049. 1
60348956050. 2
60348956051. 3
60348956052. 4

Question Number : 20 Question Id : 60348914916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Water table refers to

1. The lower limit of the zone of saturation

2. The upper limit of the zone of saturation

3. Seepage of water into fissures lying under ground

4. The contact zone of the permeable and impermeable rocks

Options :

60348956053. 1
60348956054. 2
60348956055. 3

60348956056. 4

Question Number : 21 Question Id : 60348914917 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

Choose the correct answer from the codes given below :

List | List 11

A. Autotrophs |l. Distinct communities of a particular climatic condition

B. Food chain |ll. Relationship of all the crganisms in a given habitat
C. Food web  |lll. Photosynthesis
D. Biomes IV. Producers, consumers and decomposers in a given niche

Choose the correct answer from the options given below:

LA-1,B-,C-ll,D-IV
2ol B -IWGEH D
ol NGB E I B
4. A-1,B-lIl,C-1,D-IV

Options :

60348956057. 1
60348956058. 2
60348956059. 3

60348956060. 4

Question Number : 22 Question Id : 60348914918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The shola forest is found in

1. Upper Himalayas

2. Hills of north-eastern India

3. Forest of Andaman and Nicobar Island

4. The forest in the Nilgiris, Annamalai and Palani hills of peninsular India

Options:

60348956061. 1
60348956062. 2
60348956063. 3

60348956064. 4

Question Number : 23 Question Id : 60348914919 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which one of the following are not causative factors with respect to poor coverage of forest in
Jammu and Kashmir?

1. Low amount of rainfall

2. Large area under cultivation
3. Steep barren slopes

4. Snow covered peaks

Options :

60348956065. 1
60348956066. 2
60348956067. 3

60348956068. 4

Question Number : 24 Question Id : 60348914920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Abiotic environment does not include

1. Air
2. Water
3. Soil
4. Plants

Options :

60348956069. 1
60348956070. 2
60348956071. 3

60348956072. 4

Question Number : 25 Question Id : 60348914921 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List | with List 1l and select the correct answer from the codes given below :

List | List 11

(Causing environmental degradation) (Gases)

A. Acid rain . Carbon dioxide

B. Automobile smoke IIl. Nitrogen oxide

C. Ozone depletion lll. Oxide of Sulpur

D. Global warming IV. Chlorofluro carbon

Choose the correct answer from the options given below:

1.A-,B-I,CAV, Dl
2ZA-1,B-ll,C-lll,D-IV
JA-IV, B, C-ll, Dl
4. A-l,B-V,C-li,D-I

Options :

60348956073. 1
60348956074. 2
60348956075. 3

60348956076. 4

Question Number : 26 Question Id : 60348914922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following types of coal has the highest carbon content

1. Bituminous

2. Peat

3. Anthracite

4. Lignite
Options:
60348956077. 1
60348956078. 2
60348956079. 3

60348956080. 4

Question Number : 27 Question Id : 60348914923 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Global warming could effect

1. Climate

2. Food production
3. Melting of glaciers
4. All of the above

Options :

60348956081. 1
60348956082. 2
60348956083. 3

60348956084. 4

Question Number : 28 Question Id : 60348914924 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : The growth of grass and other vegetative cover is limited to selvas.

Reason R: The separate crowns of trees coalesce and form a thick canopy above the forest
floor.

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. Ris true but, A is false.

Options :

60348956085. 1
60348956086. 2
60348956087. 3

60348956088. 4



Question Number : 29 Question Id : 60348914925 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which type of soil is found in western aspect of Ladakh Plateau and north Kashmir Himalayas
is

1. Shallow, loamy skeletal soils

2. Deep loamy saline and alkali soils

3. Deep, loamy alluvium-derived soils

4. Shallow and medium loamy black soils

Options :

60348956089. 1
60348956090. 2
60348956091. 3

60348956092. 4

Question Number : 30 Question Id : 60348914926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Forest and wildlife are

1. Renewable resource

2. Non-renewable resources
3. In-exhaustible resources
4, None of these

Options :

60348956093. 1
60348956094. 2
60348956095. 3

60348956096. 4

Question Number : 31 Question Id : 60348914927 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il and select the correct answers from the codes given below:

List | List 11

(Continents) (Names of temperate Grassland)
A. North America . Veldt

B. South America Il. Downsland

C. Africa lll. Prairie

D. Australia V. Pampas

Choose the correct answer from the options given below:

1LA-LB-I,C-li, -V
2.A-ll,B-IV,C-lll,D-I
3:A-Il, B-1,C-IV, Dl
4. A-ll,B-IV,C-ll,D-I

Options :

60348956097. 1
60348956098. 2
60348956099. 3
60348956100. 4

Question Number : 32 Question Id : 60348914928 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following pairs is not correctly matched?

1. Laterite-Uttar Pradesh

2. Sandy soil- South Punjab
3. Red soil-Tamilnadu

4. Black soil-Madhya Pradesh

Options :

60348956101. 1
60348956102. 2
60348956103. 3

60348956104. 4

Question Number : 33 Question Id : 60348914929 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a method for water conservation?

1. Rainwater harvesting

2. Groundwater extraction

3. Improving irrigation efficiency
4. Avoiding water wastage

Options :

60348956105. 1
60348956106. 2
60348956107. 3

60348956108. 4

Question Number : 34 Question Id : 60348914930 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A : The flowering, fruiting and ripening of some plant species are called
phenophases.

Reason R: Phenclogy is the study of periodic biological phenomena and their relationship to
weather and climate.

In light of the above statements, choose the correct answer from the opticns given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. A is true but R is false

4. A'is false but R is true

Options :

603489561009. 1
60348956110. 2
60348956111. 3

60348956112. 4



Question Number : 35 Question Id : 60348914931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which among the following factors is responsible for environmental pollution.

1. Urbanization

2. Burning of fossil fuels
3. Industrial revolution
4. All the above

Options :

60348956113. 1
60348956114. 2
60348956115. 3

60348956116. 4

Question Number : 36 Question Id : 60348914932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The most flood prone state of India is

1. Assam

2. Andhra Pradesh
3. Bihar

4. Uttar Pradesh
Options :
60348956117. 1
60348956118. 2
60348956119. 3

60348956120. 4

Question Number : 37 Question Id : 60348914933 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



lron ore is a

1. Metallic mineral

2. Non-metallic mineral
3. Muclear mineral

4. Precious Mineral
Options :
60348956121. 1
60348956122. 2
60348956123. 3

60348956124. 4

Question Number : 38 Question Id : 60348914934 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The ozone layer lies in the

1. Troposphere
2. Stratosphere
3. Mesosphere
4. lonosphere
Options :
60348956125. 1
60348956126. 2
60348956127. 3

60348956128. 4

Question Number : 39 Question Id : 60348914935 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Consider the following statements and identify the correct answer using the codes given
below:

A, Temperate areas are more significant for fishing than tropical areas.
B. Grand banks and Doggar banks occur in the North Pacific Ocean.
C. Peru and India are some of the leading fish producers in the world.
Codes:

1. Only B is correct
2. Only C is correct
3. A and C are correct
4. A and B are correct

Options :

60348956129. 1
60348956130. 2
60348956131. 3
60348956132. 4

Question Number : 40 Question Id : 60348914936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not a physical element of environment?

1. Sail
2. Water
3. Air
4. Plants

Options :

60348956133. 1
60348956134. 2
60348956135. 3

60348956136. 4

Question Number : 41 Question Id : 60348914937 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following metheod is using for to conserve water resource?

1. Protection of Water from Pollution
2. Use of Modern Irrigation Method
3. Increasing Forest Cover

4. All of these

Options :

60348956137. 1
60348956138. 2
60348956139. 3

60348956140. 4

Question Number : 42 Question Id : 60348914938 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Which of the following prominent factors affects the distribution of forest?

1. Rainfall

2. Temperature
3. Soil types

4. None of these
Options :
60348956141. 1
60348956142. 2
60348956143. 3

60348956144. 4

Question Number : 43 Question Id : 60348914939 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following soils is highly fertile?

1. Red and black

2. Black and laterite
3. Alluvial and black
4, Red and laterite

Options :

60348956145. 1
60348956146. 2
60348956147. 3

60348956148. 4

Question Number : 44 Question Id : 60348914940 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Human activities that causes climate change on Earth includes.

1. Burning of forests

2. Agricultural activities
3. Use of aerosol cans
4. All of above

Options :

60348956149. 1
60348956150. 2
60348956151. 3

60348956152. 4

Question Number : 45 Question Id : 60348914941 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Fossil fuel and Metallic minerals are

1. Renewable resource

2. In-exhaustible resource
3. Non-renewable resource
4. None of these

Options :

60348956153. 1
60348956154. 2
60348956155. 3
60348956156. 4

Question Number : 46 Question Id : 60348914942 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Global atmospheric temperature is likely to be increased due to

1. Burning of fossil fuel
2. Water pollution

3. Soil erosion

4. None of the above

Options :

60348956157. 1
60348956158. 2
60348956159. 3

60348956160. 4

Question Number : 47 Question Id : 60348914943 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Xerophytic vegetation is a characteristic feature of

1. Chotanagpur plateau
2. Khasihills

3. Eastern ghats

4. Kutch

Options :

60348956161. 1
60348956162. 2
60348956163. 3

60348956164. 4

Question Number : 48 Question Id : 60348914944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Habitat destruction is caused by.

1. Population growth
2. Urbanization

3. Industrialization

4. All of the above

Options :

60348956165. 1
60348956166. 2
60348956167. 3

60348956168. 4

Question Number : 49 Question Id : 60348914945 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Biotic environment includes

1. Producers

2. Consumers

3. Decomposers
4. All the above

Options :

60348956169. 1
60348956170. 2
60348956171.3

60348956172. 4

Question Number : 50 Question Id : 60348914946 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

gases are main contributors to acid rain.

1. Carbon dioxide and carbon monoxide
2. Sulphur dioxide and carbon dioxide

3. Sulphur dioxide and nitrogen dioxide
4. Sulphur dioxide and carbon monoxide

Options :

60348956173. 1
60348956174. 2
60348956175. 3

60348956176. 4



